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Question 1 L Jlgeal l
A resistor was connected to an electric | sean i i sl Astlues b b aglle 0
circuit. the potential difference between Ad S g e Jgeanlly pyliall Al G
the two ends of the resistor was changed, SN R
and the values of the current passing
through it were obtained as in the

following table: I
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or an ochmic? Explain your answer.
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terminals of the battery V.
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B- Calculate the potential difference between the two
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c- Does the magnitude of the velocity per time of the electron change
inside the magnetic field? Explain your answer?
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éﬂhﬁloftl‘ra electron’s orbit inside the magnetic field.
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exerting a magnetic force on a voice coll
in a magnetic field, as shown in the
Flgure below. The movable voice coil is
connected to a speaker cone that
actually produces the sounds. The
magnetic field is produced by the two
permanent magnets as shown, the
magnitude of the magnetic field is 4.7T.
The voice coil has a diameter of (.03 m,
is composed of 220 turns of wire, and the
magnetic force exerted by the magnetic
field on the loudspeaker’s voice coil is
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" _Calculate the magnitude of ¢
ilall

e current passing through the tums of the coll.
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